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SMERHO T iRICHEET 51 SERHA
ﬁ;‘g TREFOBBOEILHDKRES TREFDOHERTEHDKRES TREFOBBOEILADKRES TREDHBESILADKRES
E R 4 B2 | Timh oD ADKES X 4 TimhoDKE| & ADKRES X 4 B | LishoOlE ADKRES X 4 Limhonlks | & ADKRES
(m) (m) (kN/mi) EE B (m) (m) (kN/mi) (m) (m) (kN/mi) (m) (m) (kN/m)
7 100kN/MZ#B% % -1 -~ = —|3mziEzE — ~ - — — [ 100kN/mM%#B 2 % — -~ — —[3mZE#ERB — ~ — — —
Zzh st 100|000 ~ 149 2243 | Fhs | 000 ~ 149 274 13.87 Zh sk 100500 ~ 502 2243 | Thst | 500 ~ 502|274 13.87
2 100kN/mMZ#8% % - -~ = —[3mZEE=zB — ~ - — — [ 100kN/MZ#8 % % — -~ — —[3mZE#EZB — ~ — — —
ZzhnLst 100|000 ~ 342 43.39 | TR | 000 ~ 342| 2566 12.93 Zzh s 1.00 | 5.00 ~ 830 43.39 | TR | 5.00 ~ 830 256 12.93
3 100kN/MZ#B% % -1 -~ = —|3mziEzE — ~ - — — [ 100kN/mM%#B 2 % — -~ — —[3mZE#ERB — ~ — — —
Zzh st 100|000 ~ 149 2244 | Fhs | 000 ~ 149 274 13.87 Zh sk 100|500 ~ 502 2244 | Thst | 500 ~ 502 2.74 13.87
4 100kN/MZ#B% % - -~ = —[3mZzE=zB — ~ - — — [ 100kN/M%#B % % — -~ — —[3mZE#EZB — ~ — — —
Zh st 100|000 ~ 608 76.20 | Ths | 000 ~ 000 1.75 8.86 Zh s 100|500 ~ 696 76.20 | ThS | 5.00 ~ 696 | 175 8.86
5 100kN/MZ#B% % -1 -~ = —|3mziEzE — ~ - — — [ 100kN/M%#B 2 % — -~ — —[3mZE#ERB — ~ — — —
Zzh st 100|000 ~ 643 80.96 | #nLs | 0.oo ~ 000|160 8.07 Zh sk 100|500 ~ 817 80.96 | #nLst | 500 ~ 817| 1.60 8.07
P 100kN/MZ#B% % - -~ = —[3mZzE=zB — ~ - — — [ 100kN/M%#B % % — -~ — —[3mZE#EZB — ~ — — —
Zh s 100|000 ~ 576 72.04 | Fhs | 000 ~ 576 1.91 9.66 ZhLst 100|500 ~ 685 72.04 | Ths | 500 ~ 685| 1.91 9.66
7 100kN/m%#825%| 1.00 | 000 ~ o072 110.75 |3m&E#BZZ| — ~ — — — | 100kN/mM%#%2 5| 1.00 | 11.35 ~ 1351 110.75 |3mZE#BZB| — ~ — — —
Zh s 100|072 ~ 851 100.00 | Thilst | ooo ~ 851] 240 12.13 ZhLlst 100500 ~ 1135 100.00 | ThLsS | 500 ~ 1351| 2.40 1213
P 100kN/m#%#Bx25| 1.00 | 000 ~ 027 10394 |3mZEEZZ — ~ — — — | 100kN/m%E# 23| 1.00 | 11.55 ~ 1231 103.94 |3m%E#EZ3| — ~ — — —
Zh st 100|027 ~ 805 100.00| ThLs | 000 ~ 805|243 12.26 Zh s 100500 ~ 1155 100.00 | TnLS | 6500 ~ 1231| 2.43 12.26
9 100kN/MZ#B% % -1 -~ = —|3mziEzE — ~ - — — [ 100kN/mM%#B 2 % — -~ — —[3mZE#ERB — ~ — — —
Zh s 100|000 ~ 771 98.84 | Fnst | 000 ~ 771|201 10.16 Thlst 100|500 ~ 1112 98.84 | #nASY | 500 ~ 1112|201 10.16
10 100kN/MZ#B % % - -~ = —[3mZEE=zB — ~ — — — [ 100kN/mM%#B % % — -~ — —[3mZE#EZB — ~ — — —
Zh st 100|000 ~ 766 98.17 | #hst | ooo ~ 766|222 11.24 Zh s 1.00 | 500 ~ 1024 98.17 | #nLSt | 600 ~ 1024 2.22 11.24
11 100kN/m%#8 25| 1.00 | 000 ~ o062| 10916 |3m&E#BZZ| — ~ — — — [100kN/M%E#B =2 3| 1.00 | 11.03 ~ 1309| 109.16 |3mZE#EZZ| — ~ — — —
Zh s 100062 ~ 840 100.00 | Thls | oo0 ~ s840| 2.04 10.33 Thlst 1.00| 500 ~ 1103| 100.00 | Zh5 | 5.00 ~ 1309 | 2.04 10.33
12 100kN/MZ#B% % - -~ = —[3mZEE=zB — ~ — — — [ 100kN/mM%#B % % — -~ — —[3mZE#EZB — ~ — — —
Zh st 100|000 ~ 754 96.46 | ThS | 000 ~ 754|229 11.57 Zh s 100|500 ~ 1012 96.46 | TnLSY | 500 ~ 1012] 2.29 11.57
13 100kN/MZ#B% % -1 -~ = —|3mziEzE — ~ - — — [ 100kN/mM%#B 2 % — -~ — —[3mZE#EZB — ~ — — —
Zh s 100|000 ~ 740 94.48 | Fhst | 000 ~ 000| 1.72 8.68 Thlst 100500 ~ 966 94.48 | #nUS | 500 ~ 966 1.72 8.68
14 100kN/MZ#B % % - -~ = —[3mZEE=zB — ~ — — — [ 100kN/mM%#B % % — -~ — —[3mZE#EZB — ~ — — —
Zh st 1.00 | 000 ~ 630 79.15 | Thst | ooo ~ ooo| 1.59 8.05 Zh s 100|500 ~ 793 79.15 | #hLUS | 5.00 ~ 793 | 159 8.05
15 100kN/m%#BZ25| 1.00 | 000 ~ 095 11433 |3mZE#BZZ| — ~ — — — [100kN/M%E#B =2 3| 1.00 | 1072 ~ 1386 114.33 |3mZE#EZZ| — ~ — — —
ZzhnLst 1001095 ~ 874 100.00| ThLls | oo0o ~ 874|209 10.59 Zzh s 100|500 ~ 1072 100.00| Fh5 | 5.00 ~ 1386 2.09 10.59
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SMERHO T iRICHEET 51 SERHA
ﬁ;‘g TREFOBBOEILHDKRES TREFDOHERTEHDKRES TREFOBBOEILADKRES TREDHBESILADKRES
=] R 4 B2 | Timh oD ADKES X 4 TimhoDKE| & ADKES X 4 B2 | EImho0lEs ADKRES X 4 LHimhoDES | B ADKRES
(m) (m) (kN/mi) EE B (m) (m) (kN/mi) (m) (m) (kN/mi) (m) (m) (kN/m)
16 100kN/MZ#B% % -1 -~ = —|3mziEzE — ~ - — — [ 100kN/mM%#B 2 % — -~ — —[3mZE#ERB — ~ — — —
Zh s 100|000 ~ 767 98.39 | Fhst | 000 ~ 767|208 10.51 ZhLlst 1.00| 500 ~ 1050 98.39 | #nLUSY | 500 ~ 1050| 2.08 10.51
17 100kN/mMZ#8% % - -~ = —[3mZEE=zB — ~ - — — [ 100kN/MZ#8 % % — - ~ — —[3mZE#EZB — ~ — — —
Zh st 100|000 ~ 767 98.39 | NS | 000 ~ 000| 169 8.62 Zh s 1.00 | 5.00 ~ 1050 98.39 | NS | 500 ~ 1050| 1.69 8.62
18 100kN/m%#8 25| 1.00 | 000 ~ o008| 101.20 |3mZE#BZZ — ~ — — — | 100kN/m%#8%25%| 1.00 | 1067 ~ 1090 101.20 |3mZE#BZB| — ~ — — —
Zh s 100|008 ~ 787 100.00| Thils | ooo ~ 787|211 10.65 ZhLlst 1.00| 500 ~ 1067 100.00 | ThUst| 500 ~ 1090|211 10.65
19 100kN/MZ#B% % - -~ = —[3mZzE=zB — ~ - — — [ 100kN/M%#B % % — - ~ — —[3mZE#EZB — ~ — — —
Zh st 100|000 ~ 704 89.29 | #nst | 0oo ~ o000l 167 8.44 Zh s 1.00 | 500 ~ 900 89.29 | Ths | 500 ~ 900 1.67 8.44
20 100kN/MZ#B% % -1 -~ = —|3mziEzE — ~ - — — [ 100kN/M%#B 2 % — -~ — —[3mZE#ERB — ~ — — —
Zh s 100|000 ~ 704 89.27 | #nst | 0oo ~ oo00| 167 844 Zh sk 100500 ~ 9.00 89.27 | #nAS | 500 ~ 9.00| 167 8.44
21 100kN/MZ#B% % - -~ = —[3mZzE=zB — ~ - — — [ 100kN/M%#B % % — - ~ — —[3mZE#EZB — ~ — — —
Zh st 100|000 ~ 486 60.60 | Ths | ooo ~ oo0| 1.65 8.33 Zh s 100|500 ~ 520 60.60 | ThSN | 500 ~ 520 | 165 8.33
22 100kN/m%#8 25| 1.00 | 000 ~ o045 106.60 |3m&EBZZ — ~ — — — [100kN/MZE#B =2 3| 1.00 | 1059 ~ 1180 106.60 |3m%E#EZZ| — ~ — — —
Zh s 100|045 ~ 823 100.00 | Ths | 000 ~ 823|224 11.33 ZhLlst 1.00] 500 ~ 1059 100.00 | TnLS | 500 ~ 1180| 2.24 11.33
23 100kN/m%#BZ25| 1.00 | 000 ~ o0s6| 11287 |3mZEBZZ| — ~ — — — | 100kN/mi&# 23| 1.00 | 1058 ~ 1321 112.87 |3m%E#z3| — ~ — — —
Zh st 10008 ~ 865 100.00| Ths | o000 ~ 865|214 10.81 Zh s 100500 ~ 1058 100.00| TnLS | 500 ~ 1321|214 10.81
24 100kN/m#%#8Z25| 1.00 | 000 ~ 090 11347 |3mE#Ez3 — ~ — — — | 100kN/m%#8%2 3| 1.00 | 1054 ~ 1319| 113.47 |3mE#Ez3| — ~ — — —
Zh s 100|090 ~ 868 100.00| Thils | ooo ~ 868|221 11.15 Thlst 100500 ~ 1054 100.00| Th5 | 500 ~ 1319|221 11.15
25 100kN/m%#BZ25| 1.00 | 000 ~ 09| 11438 |3mZEBZZ| — ~ — — — | 100kN/mix# 23| 1.00 | 1065 ~ 1348| 114.38 |3m%E#Z3| — ~ — — —
Zh st 100|096 ~ 874 100.00| ThLS | 000 ~ 874|227 11.46 Zh s 1.00 | 5.00 ~ 1065| 100.00| ThLS | 500 ~ 1348|227 11.46
2% 100kN/m%#B 25| 1.00 | 000 ~ 112| 11695 |3m&EBZZ| — ~ — — — | 100kN/mM%#8%25| 1.00 | 1098 ~ 1446| 116.95 |3mEHBZB| — ~ — — —
Zh s 100|112 ~ 891 100.00 | Ths | 000 ~ 891|234 11.84 zh sk 1.00] 500 ~ 1098 100.00 | TN | 500 ~ 1446| 2.34 11.84
27 100kN/m%#BZ5| 1.00 | 000 ~ 036 10529 |3mZEBZZ — ~ — — — | 100kN/m&E# 23| 1.00 | 11.35 ~ 1235| 105.29 |3m%E#Z3| — ~ — — —
Zh st 100|036 ~ 814 100.00| Th5 | 0oo ~ 814|240 12.12 Zh s 100500 ~ 1133 100.00 | TnLS | 500 ~ 1235| 2.40 1212
100kN/MZ#B% % ~ ImEHEAD ~ 100kN/mM%Z#8Z % ~ ImEEZD ~
Zzh st ~ Zh sk ~ zh sk ~ Zh sk ~
100kN/MZ#B % % ~ ImEHBZD ~ 100kN/m#%#8 % % ~ ImEEZD ~
Zh s ~ ZhLst ~ ZhLst ~ ZhLst ~
100kN/M%#B% % ~ ImEHEAD ~ 100kN/M%Z#8 % % ~ ImEEZD ~
Zh s ~ ZhLst ~ ZhLst ~ ZhLst ~

3
W
T



